STAT 472
Spring 2021
Quiz 3

February 16, 2021
1. You are given:
a. 0y =02
b. Qg =04
c. Deaths are uniformly distributed between age 85 and 86.

d. There is a constant force of mortality between age 86 and 87.

Calculate 0407 Jes6 -

Solution:
l.—I 800 —-559.49455
4070855 = 2L = =0.27330
0.4/0.7 185.6 Iss.e 880
I85 =1000

I, = (1000)(L—0.2) =800
l,, =800(1—0.4) = 480
l,s . = (1000)(L—0.6) +800(0.6) =880  since it is UDD

lss, = (800)*°7 . (480)°® = 559.49445



2. You are given the following one year select and ultimate mortality table:

If l,g;; =100,000, calculate lgy; -

Solution:

|[82] = I[8O] * Prsop - Pe1

I[az] = |[81] * Pl

==> ligoy * Prsoy * Por = lay * Prany

[X] Oog 0y x+1
80 0.05 0.10 81
81 0.07 0.12 82
82 0.10 0.15 83
83 0.13 0.19 84
_ oy Py _ (100,00000-007) oo o

Prsop - Pes

(1-0.05)(1—0.10)




